1)

3.17
1)
7.3pg-TEQ/Nm3
16pg-TEQ/Nms3 Runl
1,300pg-TEQ/g
0.12pg-TEQ/Nm3
2
3.17
M1 M2 M3 M4 M5
(1) (2)
D [pg-TEQ/m3] 0.13 0.11 0.067
X [py-TEQ/m’] 7.3 16 0.1 0.066 0.086
N [pg-TEQ/n’] 0.12 0.096 0.065 0.066 0.066
s L
v.3
2.5pg-TEQ/m’
[mg/m*] .25 0.23 .19
[mg/m°] 2.93 4.19 0.33 0.13 1.57
[mg/m°] 0.11 0.03 0.14 0.18 0.59
Runl 1,300pg-TEQ/g
(2)
(24 )
Im
87dB 55dB(
40m
3.18
(1m) [dB] (40m) [dB]
Run2 12:19 87 54
12:56 84 51
86 53
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0.1pg-TEQ/g
41

Run Runl Run2 Run3 Run4 Run5

kg/h 42 59 99 90 56

h 1 1 1 1 1
( ) 561 518 564 520 580
! MJ/h 514 468 534 457 563
MJ/Kkg 12.2 7.9 5.4 5.1 10.1

3.6MJ/kWh 36.7MJ/L

42kg/h  99kg/h

5.1MJ/kg 10.1MJ/kg
Run4 g
90kg/ 520 )
5.1MJ/kg
4.1
[kg/hr 1
2
457

2.5MJ/kg 4.1



4.2 4.3

12
60
1.97ton 17,795 9,033 /ton
2,031 /ton
1.97ton
20 26
1,236 /ton
4.3
4.2
1.97]|ton
( 5
1 ( 12
4.3
( )
4 240 hr 2,712
10|L/h 600]L 4
( 0.08|m3/h 5|m3 4
34|kWH/h 2040]kWh 31
( 70{L 35
Na 1 10
100
1 13,794
1,085
17,795
ton 9,033




4.4 4.2

2.1) 10,000pg-TEQ/g 10,000
250
24
4.4
pg-TEQ/q 10,000
pg-TEQ/q 50
ton 10,000
2
/ 250
/ 24
ton/h 1.0
500
1
>
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4.3

2.5

4.3

24

4.6

4.6

12
13

4.7

4.7

24
24
24




2.1
(@)
2.1

(b)

(©

2.1

4.8

pg-TEQ/q

10,000

pg-TEQ/q

ton

10,000

60

27

23

50

10

/ton

120

4.8



0.1pg-TEQ/g 99.99

2,700pg-TEQ/g 90kg/h
500 1 99.99

3,000pg-TEQ/g

550
500 1
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